a) projz(v) =2 <1,2,2 >

b) ¥ — proj(v) =5 <4,-7,5>

¢) scalar projection of ¢ onto 1, |proj;U| = 2

Summary
e A vector can be written as
V=< U1, Vg, V3 >= ’Ulg + /UQ‘/]\‘ + v3k

e Direction angle

U1 U2 U3
COSQ = 7—r, COSf = =, COSY = 7,
|71 |71 |5

satisfying the relation cos® o + cos? 3 + cos? vy = 1.
o If =< Uy, Uz, U3 >,17:< V1, Vg, Vg > CO‘
\S.

Dot Product
e Dot Produc s w@x@%%
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.Prvl(;éyg'\can becdlgéloslgo&'go two vectors, one vector parallel to @

proj;U =

uk

and another vector perpendicular to u

U — projzv



